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1 Energy consuwmed by a bulb

A bulb consumes 45 W of power. How much energy does it consume in 10 minutes?

entgy = puwe x time (Omineles = 1Omin x bOs = GO
= 45w % 6003
= 270007

2 Paying for electricity

A utility company pays for the fuel to deliver electricity to houses. One house has ten 20 W
bulbs. Another has two 20 W bulbs and a 500 W microwave oven. Does it make sense for the
utility to charge based on the total power of all of the appliances in the two houses? If so,
why? If not, is there a more sensible way?
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